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1 O0o0Oon

1.1 00

ubodaoaogoooogan

1.2 OO0
00 1.1 00 Q000000000000 Q000000000Q#0) 00000 BOOD0OOO

(i) QeB
(i) AeB— A°c®B (A°0 ADODDDOOOO)
(’LZZ) Al,AQ,...,An,...E% :>UZ°:1AHE‘B

000000000 B0 QU0Os000O0OD0ODOOO,B®)DOOOOO0OOO

000000000 BVOOODOODODODOOOOOQUOOOODOP=Q°00000000

DD1.1(Q%)DDDDDD{B}CSBDDDDDDDDDDD
(0) 0 € B, (J)UBZ-GEB, (Q)HBieiB, (3)(]36% (4) Bi\By := BiN B € B

=1 1=1 n=1
O0: (0)00 1.1 (), (i) 00 0 =Q° € B.
(A, =B, (1<i<n),A4;=00G>n+1)00000vi000 4, €BO00000000 1.1 (iii)) OO
UL, Bi=Ux, A4, ed0000
(2)00 1.1 (i) 00 BFeBOOOOOO(1) 0 deMorgan 000000 N, B; = (U, BY)® € B.
(3)DD 1.1 (ili) 0 de Morgan 000000 (2) 000000000000
(4) Ay =B, A, =BS,n=2000 (2)00000000 O

00 1.2 (2,8)00000000000000000 P:%—[0,1]0 (2,8)0000000000
(i) PQ)=1
(i) A,eB,n=1,2,..,0000m#n000000 A,NA,=000000 (D000 Ay, As,...
DDDDDDDDDDDD)DP(U An):ZP(An),
n=1 n=1

00000, P)00000000O0O0O0O0BO00000AeB000 P(AOOO AODDQDOOOOO

011 (@000000)

Q={w,we,...,wp,} (OOOO)

B=2% QOO0O0D;Q000000000000000)
#A
#Q
ooOoooo (Q,%,P)00000000000000ODO0O0OOOO0OODOOOO

P(A) = AeB (#A000 A00000)

a) 00000 10000: Q={1,23,4,5,6}, P{w}) =1/6 (Vw € Q).

DDDDP(DDDDDDD)—P({135})—M—§—1
- 3,5)=Tge =4 =

b) 0000 20000: Q={HH HT,TH,TT}, P({w}) = 1/4 (Vw € Q).

(HODO (head), TOO (tail) 00000D0)

[\



¢) O00O0OUO0 U000 VDOOUOODOOOUOODOOOUOODO 10000UDDODOOODUDOOROOOO
0000 Q={By,...,Be,Wi,...,W,}»00000#Q0=(a+b)"000000
akbn,fk

ADDDO0D0D(00D00000000D000#A=(;)d*0"*000000P(4) = ()&

d) 00000000 (00000000000)0»000000000ACDO0D kO00D0O0DO
O000#A=(1)ePy-yPror, 000000 P(A) = (§) 2etnsk,

k a+an

00 1.2 (2,8,P) 000000000
(1) P(0)=0
(2) Bie%,izl,...,n,DDDDDDDDDDDP(UBi):ZP(Bi).

(3) A,Be®B,ACB= P(A) < P(B)
(4) BeB = P(B%)=1- P(B)
(5) A,Be®B 000 P(AUB) = P(A)+ P(B)— P(AN B).

0O0: (1) 0011 000000a=P®OOOOO0<a<1 0OO00O0OA,=0(n) 0OO0D0OO
U, 4, =000A4,NnA,=0(m+#n) 000000012 G)00 PO =>,PO)000000
a>000000000a=00000000<e¢<10000000000PM=00000
(2) A, =B, (1<i<n),A;=0(>n+1)00000U2,A=U_, BiO0OANA; =03G#4) 00
000000 1.23G) 0 (1)000PWU;_, Bi) =21 P(B) + > 0,01 P(0) = X1 P(By).
(3)Bi=A,B,=B\AOOOO B=ByUBy, BINBy, =000 (2)000P(B) = P(By)+P(By) > P(A).
(4) BUB°=Q,BNB°=000000 1.2(i)0 (2)0000P(B)+P(BY)=P(Q)=1000000
(5) Bi=ANB,By=ANB¢, B3 =A°NBO00O0O0B, B, B3000000000000((2)000
A=B1UB,00 P(A) = P(B1)+P(B2), B=B1UB300 P(B) = P(B1)+P(Bs), AUB = BiUB3UB3
00 P(AUB)=P(By)+P(B:)+ P(B3). 0000000000 O

00 1.3 A, A,,...eBO000 P(U, 2, An) <307, P(Ay).

O00: By = Ay, By = A\Ay, ..., By = A\UjZ1 Ay) 00000B,By,... 0000000 U2, By =
U*,4, 000000 1.23G)0000

8

n n=1

00000000000 A, CcB,000 1.23) 00000 ]

00 1.4 (Q,%,P)000000{B,}cBOO0O0
(1) BpcByC---CB,C--+ = P(U,_,Bn) = lim P(B).
(2) BioByD>--DB, D>+ = P(,_,Bn) = lim P(B,).

O00: (1) 4; = By, A, :Bn\UZ;llBk (n>2)00000A,4,,...0000000 U;_, Ax = B,
neN), Ui, A =U,—,B,. 000000 1.2 (i), 00 1.2(2) 0000

P({J Ba) = P(|J Ar) =) P(Ax) = lim » P(Ar) = lim P({J Ax) = lim P(B,).
n=1 k=1 k=1 k=1 k=1

n— oo

(2)BSC---CBSC--- 00000000 1.2(4),deMorgan 00000000

P(ﬁ Bn) =1-P(({] B.)") = 1—P(G B;) =1-lim P(B;)= lim (1-P(B})) = lim P(B,). O



011 (@00 90000 A46) QUOO0O0 ADDODODOOOOOOODADDD QOO0 0000
0000000000 indee0000%B, AeA)0000000000000000

(1) Myea B0 00000000

(2) Men® 0 A0DODDc0000O0DO0O0 0000000

O0: (1) 000000000 ((2U0U0AQ0O0OO0 QDO sO0O0OUODOOOQOUUUDOOOOOUDOOO
000 (0O00AO0DDDOO)D()DO0F:=MyeaBr0 A0DD000000000D0O00000OO
00000000 F0O0000(OOU0O0ODDOO)DADOO cOO0DWOOOOOUOOOB,O AD
00 oc0000000B,0000000000000%BgD(zeaBa=F00000000 B0 FO
obooooOobooooobooog O

1.3 00bboougoooo

0000 (Q,%8,P)0000 CeB, P(C)>00000000000000

P(ANC)

P(A|IC) = P{C)

(A €B)

00 1.5 P(-|C)00000 (Q,8) 0000000000

D0:0012@3)000< P(ANC) < P(C)000D00< P(AC)<1. 00 1.2 () 00000 (i) O
{A,) c BO000D0000000B, =A4,NCO000 By, € B0 BpNBy=A,NA,NC =10
(m#n) 000

HQAMnﬂwgﬁﬁmnﬂﬁaﬁJZ g A“C E;XMC

00 1.3 P(A|C)000 CO00000000 Ae®0000000000000P(-|C)0CO00O
00000000000000000

0 1.2 NOOOOOO N,00000D00000000 NypOOOOODODOOO0OO0O0O0000 NpOO
000000000000000000000000000000000
AD00DDDOOODOOO0OO0OO0O00O0BOONOOONONONOOONONOONONNO0O0ONONOONO0ONNOO
00000 P(AB)000000000000P(ANB)=Nap/N, P(B)=Ng/NODODOOO
P(ANB) _ Nap/N _ Nap

P(B) Nz/N  Ng '

P(A|B) =

00 1.6 0000000
(1) (0000) P(AyNAyN---NA,) >0, A €B (i=1,2,...,n)000

P(A1NnAsn---NA,) =P(A)P(Az3]41) - P(A A1 N NAL_1)

(2)(000000) {4,}) c B0 QOOOO0000{4,}0000000 P(4,) >0 (ne N)OO
Q=2 ,4,0000000000000

}:P P(A|A;)  (Ae®)

(3) Bayes0ODO) {4,} c B0 QOO00000000000BeBO P(B)>0000000000

0ooooo
P(Ar)P(B|A)

> o1 P(An)P(B|AL)

n=1

P(Ax|B) =



00 1.1 00 1.6 (2), (3)0 Q00000 4,,..., Ay €3 00000000000000O00O0O0O0OO
000000 1.2 () 0000000 1.2(2)000000000000000O0O0O

00: (1) P(ANnC)=P(A|C)P(C)D0D000000ODODOOOOOOO
(00)= P(A;N---N An_l)P(An|A1 N- A, 2aNA, 1) = P(A;N---N A, 9)P(A, 4|A N - N
An2) P(An] AL O+ A ) =+ =(00).
BmA ) > >
ZP =P(|J(BNnA,)=PBN|JA,)=PBNQ) =P(B).

n) n=1 n=1
goood QDDDD m#nl]l][ll] (BﬂAm)ﬁ(BﬂAn)ZBﬁAmﬂAnZ@DD {BﬁAn}DDDD
O000O00o00ooo0o012G)0o0o0oooon
(BNA
P(Ay) p(gk)k) P(BnN Ag)

(3) (0O)= 0E) = —55) = P(A,|B). 0000010000 (200000 O

00 1.1 00000000000000000000 9800000000 (Oo0oO0O0O0O0O0)0o00O0
0000000 2%000000000000000000000 1%0000000000000000
gboboobOobooooobooooboboooooboooobooboooonog

0: ADDOO0OOOODOO000BONONOOOONOONONDNNDNONOOOONONONDNDD 98%0000
000000000 P(BJA)=098. 0000000 2%0000000000 P(B|JA°) =0.02. 0000

00000000 1%00 P(A)=001. 000000 P(AB)00OD0DOODOOOOO
P(AB) = P(A)P(B|A) B 0.01-0.98 49 49(
- P(A)P(B|A) + P(A°)P(BJAc)  0.01-0.98+0.99-0.02 49+99 148

0.331..) O

00 1.4 (1) P(ANB)=P(A)P(B) (A, Be®)000000 A0 BOOOOOOOOOOAL BO
oooo

(2) 0000 {B,}Cc®B (00D0000000000)00000000000000 By,,Bn,,-..,Bnx,
00

P(Bn, N Bp, N---NBy,) = P(By,)P(By,) - P(Bn,) (1.1)
00000000000 {B,}0000000000
00 1.7 (1) A,BeB00 P(B)>00000A 1 B <= P(A|B) = P(A).

(2) 0000 By,B,,...,B,00000000000k=1,...,n0000085,...,BS,Bry1,...,B, 0
ooooooQ

00: (1) 00000000000(2) By, B,,...,B,0000000B¢,B,,...,B, 000000000
0000000000000 By,Bs,...,B,, BS000000000BS,Bs,...,B,,B¢00000000
0000000000000O00

00000001<n <na<---<m<n000(1.1)0000000000000n, >20000
BSOOOD0OO0O0O0O (1.1)0000000000n =1000:

P(BSN By, N---N By,) = P(BS)P(B,,) - P(By,) (1.2)
0000000000
P(ByN By, N---NBy,)+P(BSN By, N---NBy,) = P(Bp, N---NBy,)
0000000000By,By,---,B,000000000
P(ByN By, N---NBy,) = P(B)P(By,) - P(Bn,), P(Bn,N---NBy,)=P(B,,) - P(By)
0ooooooo

P(BiN Bn, N---N By,) = {1 = P(B1)}P(Bn,) - P(Bn,) = P(BY)P(By,) --- P(Bp,). O



00 1.2 (1) 00 A,B,CO00002000000000000000000A4,B,c000000000
0000

000Q=1{1,2,3,4}, P{k})=1/4 (k=1,2,3,4)00000A={1,2}, B={1,3}, C={2,3} 00O
000P(A) = P(B)=P(C)=1/2, PLANB) = P(ANC) = P(BN(C)=1/400000000000
0oooooooo

OD00ANBNC=00000000=P(ANBNC)+# P(A)P(B)P(C)=1/80000A4,B,C000
oooooo O

(2) P(ANBNC)=PA)PB)P(C)000000ALB, BILC,C1A0DDDDDOOO0O0O00O

DooQ = {1,2,3,4}, P{1}) = ;%5 —-i,‘P({2}):: z —-;%5, P({3)) = P({4}) = 1/4 00000
A=1{1,2}, B={2,3)}, C = {24} 00000OPANBNC) = P({2}) = g _ % _ P(A)P(B)P(C)
00000P(ANB) = P({2}) = Z - % P(A)P(B) = %(1 _ %) 0000PBNC) + P(B)P(C),

P(ANC) # P(AP(C)DOOO O

2 0OOoOd

2.1 0JO0OO0OO4Qd
D000 (2,%) 0000000000000 X:Q—-ROYacROODOD
{w; X(w) <a}eB
000000 X0 (Q,8)0000000000

021:0000000000Q={H,T}, B=2%={0,{H},{T},{H,T}}0000000000

oy Q (1<a)
X@p:{l(”_ )DDDDDﬂuXWhQ&Z {T} (0<a<1) ODOOOOO
0 (w=T) 0 (a<0)

Vac RODDOO {w;X(w)<ae}leBOO0000000XO00000000O

00 21 X0O(QB)000000 <« YacROOOO {w; X(w) < a} € B.

O00: (=) {w; X(w) <a} = G{w;X(w)Sa—%}DDDDD

n=1

(=) {w;X(w)Sa}:ﬁ{w;X(w)<a+%}Dl]l]1.2(2)[][|[|[|[| O
n=1

ubbdeunoaoooan

{w; X(w) <a} eB —= {w;X(w)>a} €B,
{w; X(w)<a} €B = {w;X(w) >a} €B.

gbooobz210000000000000
00 22 X0O(2,8)000000 «— 00000 I0000 {w;X(w)el}eB.

00: («=)00000(=)000001 = (—o00,b),(—00,b], (a,),[e,0c0) 000000000007 =
(a,b),[a,b], (a,b],[a,b) 0000 {w; X(w) €I} eBOOO0O000000I=(a,b)00000

{w; X (w) € (a,b)} = {w; X (w) < b} N{w; X (w) > a}

gbboogoboobooban t



22 0OO0O0OO0OO0OOOd

01.1000RODDOO (e, 000000000DO0OOO0 cU0DODO0OOOODOOOOUOD RO
Borel DOOOOUOOB(R)O0OOOBorel D OODUDOOODN BorelUODOODUOOOOOOOOO Borel
gooooobooobo220000000000000

00 2.1 0000 (Q,8)0000000X:Q— ROO0OD0D00000 ROODOOOO{ACR;X"1(A)¢€
B0 c00000000000X Y(4)={weQ;X(w)eAlOOOO

00: X YR) =9, X 1(A°%) = (X 1(A)°, X 1 (U, 4,) = U, X (4,) 00000000000
00000000000000000 O

00 2.3 X0 (Q,8)000000 < 000 BorelDO BeB(R)DO00 {w; X(w) € B} € B.

00: («=)B=(-c0,a] 00000000

(=) X00DO00000A={ACR; X Y(4)eB}000000 2200 (a,b] € ADDDDODO 2.1
00 s00000000000BR)000 (¢,b)000000000000000 s0000000OO
ADBR)DDDDD0O0O0 BeB(R) OO Be ADDODOX YB)eBOOOO O

00 2.1 0000 (RBR)D000O0OD f:R—-RO000acROOODO {&;f(2)<a} €B(R)
000D0000f0 (R,B(R)00D00000O0O0D0O00O

00 2.1 f0 (RB(R)0000DDOOOOOOfO (RABMR)ODDDNDONONONONDODONDODOOOOOOO

00 240000 f:R— RO (RBR)IDDONONONONODODONONDNDONONOOONONONDDODOOOO
000 (R,B(R)DD0000O0O0O0OO0

00: f000000Vee ROOODO {z;f(2) <e}000000000000GOO00000 G € B(R)
00000000000000e@G00006,>00 (z—6,,2+6,) CGOODDOOODOODO QO
000000U,egno(*—ds2+48,)=GO0000000000D,;0000000000000000f
0 R\D;0000000Vee ROOODOOC,,:={z€Dy;f(r)<a}00000000000 BorelO
00000C,:={z€ R\Dy; f(z)<a} 0000 GOOOD Cop=G\D;00000000Vz € Cap
000006, >00ye (w—0d,,z+8)\D; 000 |f(y) — f(z)| < fla)— f(x) 00000000000
000 f(y) < f(@ 000 (z—38,,2+5,)\Dy C Cap. 0000G =U,eq, ,(x—0,2+08,)00000G
000000C,,=G\D; 000000 CopeB(R).0000({xz;f(x)<a}=Co1UCsseB(R). O

00 25 X0 (Q,®8)0000000f:R— RO (RBR)DDDO000000f(X(w)D (Q,B)
0000000000

00: Yae ROODOB={zf(z)<e}00000f000000 BeB(R). 00000023000
{w; f(X(w)) <a} ={w; X(w) e B} eBOOODO O

0220024000 25000X0000000000 aX4+b(a,b000), X% VX, logX, eX, cos X
00O00D000000D00D0O00

23 0000

00 220000 (Q,%8,P)000000 XO00DO00OOF(z)=PX <z)=P{w;X(w)<z})DDO00O
0000 F:R—[0,1]00000 X000O0O0O0O0O0OO



{w;X(w)<e}O0DOD {X<a}0OOOODDDO0O0O0O0O00D0000000D000000000000
00 X0O0OODOO0O000 Fy(z)000O0

00 2.6 Pla<X <b)=F(0b)—F(a),a,be R (a<b)

00:A={X<a},B={a<X<b}0O0OO0O0ANB=0, AUB={X<b000
F(b)=P(AUB)=P(A)+ P(B)=F(a)+ Pla< X <b). O

00 2.7 F(x)UOOOUO XOOOOUOOOOOOOOOOOoOooOOoooo
(1) FOOODOOODOOOOOOz<y000 F(z) < F(y).

(2) DDDDDDDDDDDDF((L+O):ZIE{S_OF(:E):F(a) (Va € R).
(8) F(—o0):= xEIElOOF(,T):O, F(c0) := acli_}n;@F(nc):l.

00: ()e<y00 {X<z}c{X<y). 0OOODD1.2(3)000 F(z)=P(X <)< P(X <y)=
F(y)0ODOO

(2) {a,}) 000000 «0000000000000C, ={X <a,}000000000N2,C, =
(X <a}000D000MM>00VYeD C, D {X <a}0000000we{X>a}0000 X(w)>a
Oa, »a+0(n—00) 00000 NOOOONR>N = ap,—a< X(w)—a, 0000 X(w) > an,
D0w¢CyDON>,C, 0000c000000000{C,}00000000000000 1.4(2)00
nli_)rr;oF(an):nli_)ngOP(Cn):P(Xga):F(a)DDDD

(3) {2,} 000000 —0000000000000000000 By, ={X<2,}00000{B,}00
000000000000 X0O0000000N®{X<z,}=0. 000000 1.4 (2)000 1.2 (1)
0000 lim F(z,) = lim P(B,) = P()) =000000000000000000{,}000000
co000000ODO0O00OODOO0ODO 14 ()0 P(Q)=10000000000000000C0O0O0O (OO
ooooo)o O

00 2.200 F:R—RODO0 27000 (1), (2), (3)000000F(x)0000000000000
0 X000O0OO00oOoOoOoooooo

00 230000 (Q,%,P)000000 XOOOOOP(XeFE)=100O0OOOOOOoooooooo
O FCROOODDOOODOXOOOOODOOODODOD

0000000D0O000000000 ED Borel00000000000000000 {z}0 {2} =
1
m;’;l(x—f,x}mmmmm Borel 000000000000 1.1 (i) 000 EO Borel 000000
n
0000000 XO0OO0O000000000 ay,2,,...00000000000(0000000000
ooo)

00000p(x)=P(X=2,) (ieN)00O0O0OO0O
p(z;) >0 (i €N), Zp(xz‘)zl
i=1

obooobO0obOo p0bO0OO0Ob0 XOOOOOOOOOoOOOoOooOooOooooboooboooo:

X1 T2 .o T Dl:ll:l X‘ T T2 e Tn
p(z) plzz) - plan) -

0000000 XO0OOooooooooooooooao
F@)=P(X <z)= Y plax)
kxp<z
00000000000000000000000000p(z;)=F(z)—F(z;—0)000000000
gdodoooooooooobooooa




ooooooo
() 0000
000000000000000000 ADDODOOOO p,00 ADODOODOOOO g:=1-p00
000 (BernoulliDOOO0)0 n00000000 ADOOODD XO0OOOOOOOOX0O00O0OO
00 o0,1,...,n0

b(kin, p) == P(X = k) = ( )W* (k=0,1,...,n)

00000000000 2<0000 F(z)=0,z>0000

2]

n _

N@§:<k>ﬁfk
k=0

0000z>n000 F(z)=1000 (0000000)0000000000 B(n,p)J0000000

000 XO0OOOOOOOO0O0000 X0 B(n,p) 000000 X ~B(n,p) 0000

(byDOOOOO

(000000 ADDDDOO0O p000 Bernouli D000AD nO00000000D00000000
0 A°00000000Y0O00000000YOOO0O00000,1,...00Y=k000000n+k0O
000000 ADOOODODOOR—-100000 A°0 k00000000

P(Y:k):<n+:_1>p"qk (k=0,1,...) @2.1)
oooooooo
n+k—1  n+k-1)n+k—-2)---(n+1)n
k B k!

_ (_l)k(—n)(—n—1)}€~!-(—n—/€+1) _ (_1)k< —n )

000000(21)0

0000000000000000000000 NB(r,p)0OOO(DOO000 00000000000
00000)00001+2)*0 Taylor 000 (1+2)* =32, ($)2* (-1<z<1) 000

an@p:man§m=§§HY:m=1
k=0

Y—00 Yy—00
O0000o0O0o0oooOo([@oboooooon)

(c)0DOO
00 ADDOOODD pO00 BernoulliDOOOOOODO000ADODOOODOOOOD A°O000O
00 X0O0OOOXO00O00000o,1,2,..00000000000000000000

G(k;p):=P(X=k)=q¢"p (k=0,1,2,...)
0000000000000 P(X>k) =32, PX=0)=¢"0000000

PX=k+sX>k)=P(X =5s) (s,k=0,1,2,...)

10



goooooo

PU{X=k+s}n{X>k}) PX=k+s) ¢*tp |
@o)= P(X > k) T PX k) =ap=PE =)

googoooood

(d) Poisson O O
A>000000000 X0OO0OOooooooooooooo

)\k
P(X =k)= k,” (k=0,1,...) (2.2)
DDDDDDDDDDDDDDDXUDDADmemDDPdmmmmmmmmﬂzzj;%%xeR)
DDDDDDDZ}% =k)=100000Poisson 000000000000000O000O0OOOO

DDDDDDDDDDDDDDDD

0210neNOOOOOODODO X, 00000 B(n,p,) DODODOD0OODO0OOOp,00<p,<10
00 lim np,=A>00000000000000{X,}0 Poisson000000000000O0O0OO

n— oo

oood

lim P(X, = k) = ﬁ‘* (k=0,1,...)
DD:1%X:k)=1@—%)~(1—k;1)mﬁJ{(L—%?Y}k%—+%¥”(n%aﬂ O

00 2.4 F(z) 000000 (,%8,P)000000 XOOOOOOOOO(R,B(R)0D0000000
f(x)00000

:/x ft)dt (Vo€ R)

O0000000FO0O00O0O00O0OO0OD,X0000000000000000000 f(») 0 X00O00
O (density function) 00 00O

00 23 (1) X0OOOOOOO F(z)0000000
(2) F(zyU :00000000000000O0OO f(»)0D00D0O0D0O0ODOOOOO@MOOOOOODOOO
Cantor00U0Q0O0OO0ODOOO)

X000O0oUooooooooooooooo f(x) 0O

f(z) >0, / fla
DDDDDDDDfoDDDDDDDD%?(yfﬂ@DDDDPmX:®:0WhER)DDDD

P(a<Xgb):P(agxgb):/bf(t)dt (a<b)

good

0oooooooo
() 0000
0000 XO0O0000 f00000000 FO

L a<z ¢
f(x):{ b—a (a<z<b) F(x):/_ ft)dt = % (a<x <)

0 (@<aOOOb<ux)
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0000000000000 X000 (e,b)000000 U(e,b) DO0OOODOO

() ODOOO (000D0D000)
A>000000000 X00000 f() 00000000 F(z)00000000000000000
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() 0000
pER oc>000000000000000000000 (normal distribution) 00 OO
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flz) = ——e 27 (2.3)
2mo

000000000 N(u,e?)00D000000000000

v 1 (t—)?
F(m)z/ e 22 dt

—0o V2TO

o0

DDDDDDDD/ fdt=10000000000

oo m2
/ e 2 dr =+V2m
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00000dz=0dz0 4=2=22 000

o0—> 00

/OC 1 _ (m—l§)2 d 1 /oo _ 22 d 1 \/2— 1
e 20 €r = —— e 2 = — - T = .
oo V2TO V2T J oo V2T

0000 N(p,e?)0000000 p=0,0=10000000000 N(0,1)00000000000
0000000000000000 ¢(z), ®(z)00000

1 22 P r 1 tzd
x) = 6_7’ xTr) = e 2 dt
(@) @=[ =
N(p,o*)0000000 XO00000Z=(X—p)/c000-=2£000000000 s=£00
oooo

P(X<x):/_; \/%Ue(‘afdt:/; \/%e’gds:q)(z),
000Z=(X-p)/oc0000000000000000P(e<X<b)000000 P(X <ax)=&(1k)
00000000 (000 p163)00000000000®(—2)=1-®(2) (:>0)0000000

00000000 X0 N(1,4) 00000 PO<X<50000000Z=21000

PO<X<5) = P(% <Z< %) = P(—0.25< Z <1) = &(1) — (—0.25)
®(1)) — (1 — ®(0.25)) = 1 — 0.1587 — 0.4013 = 0.4400
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I
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—

I

oood
gbobooboboobooboooobooboooobobooboobooboooong
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24 0O0O0OO0OOO

gbooooobooog

00 2.5 X3(w),...,X,(w)00000 (Q,%8,P)000000000000
X(w) = (X1(), ..., Xn(w)) (2.4)

0n.000000000,0000000000000000X =(X4,...,X,)00000000

00 2.6 000 (z1,...,2,) € R"0000 (24)00000000 X = (Xy,...,X,) 00000000
gooooooo
FX(‘T17I27"'7$H):P(X1SmlaXQSIQa"' 7Xﬂ§xn)

oo 2.4 P(X1le,X2§x27~-~,Xn§xn)D P({X1§$1}Q{X2§$2}ﬂQ{Xngl'n})DDDD
Jodooooo mY"0000000000on

nO0 BorelDOOOO 1.1 000000000000O000C

00 2.7 R*"O0000000 (a1,b1) X (a2,b2) X -+ X (an,bp), a; < bs, i = 1,2,---,n, 00000
OcO00000nOO BorelDDDDDDDB(R”)DDDDB(R”)DDD BorelOOOOOOODOOOO
¢:R" > RO0DDO0 BeB(ROUDOOOe Y(B)eBRY)OUDODOOOeO (R",B(RY)DO0D
0000000000 BerelOOOOODOOOO
000000000 Be B(R)OOOO P((X,,....X,) € B)OOO Fx(en,s,...,2,) 000000
1 1
DDDDQDDDDDDB:(al,bl]><(ag,bg]DDDDB:ﬂle(al,bl—i—E)x(ag,bg—&—g)[][l Borel O
go0oo0oooooooooooo
Pla1 < X7 <bi,a2 < X9 <bg) =Plar < X1 <b1,X2 <bg) — Pla1 < Xy <b1, X2 <ag)
=P(X1 <b1,X2<by) —P(X1 <a1,Xs <by) —{P(X1 <b1,X2<as) — P(X1 <a1,Xs <as)}
= Fx (b1,b2) — Fx(a1,b2) — Fx (b1, a2) + Fx(ai,as)
googoog
Ogo00oo0oOo 250000000000 b0000o0n

00 2.8 Xy,...,X,0 (,8)0000000f:R*—» RO (RYB(R"))0000000000
f(Xi(w), -, X,(w))D (Q,8) 0000000000

gb270000000000000O0O00000

0o 2.1 (1) 0002, 0000000 Fx(z1,29,...,2,) 00000000000000

(2) Fx(xi,...,—00,...,2,) = lim Fx(z1,...,25,...,2,) =0.
Tj—>—00
000 Fx(00,...,00) := lim Fx(x1,...,2,) = 1.
L1, 3Ty —>0O0

0000000 X = (Xy,...,X,) 00000
P(X; <zj)=Fx(00,--,00,2,00, - ,00)
OX;010000000000000000000000000000

obooobOoooooobo,0000b00b000obo0obooooonoo

(1) 0000000000000 DCR'OODOO0OP((Xy,...,X,)eD)=10000000000
0000000000000
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(2) R"O00D0000 f(z,...,2,) 00000

FX(xl,...,xn):/J = / Fltita, ... ty) dtydts - - dty,

O0000000F0OO0O00DO0O0DOD0O0,X =(X,,...,X,)000000000000000000
o f(xy,...,2,) 0 XO0OOOODOOODOOO

oooooooog (X,,...,X,)0000X,000000000000000O0OO00OOO0OCOOOO
0000 ROOOOOOOOOOOODOODOOODOOj=100000000

P(XlS.I)ZP(ngl,XgER,...,XHER)Z/J / f(tl,tg,...,tn)dtn"'dtgdtl

000X, 0000000 fx, O

le / / f X t27..., )dt -dtg (25)
O000000000000D0OBCR"O BorelDODOOODO
P((Xl,..., EB // /f tl,tQ,...,tn)dtldtg"'dtn (26)

O000000 (Lebesgue 0O DOOOODO)0O00OOO

023 0D00000O0O0O0DOO0O0O0O0O00D0O0

()oooo
000000000000 Ay, A,,..., A 000000000000000000Q=%,4;, AiNA;=0
(i#j)000000010000000 400000000 p, 00000000 00000000 A
000000 X; (j=1,...,0)00000(X;,...,X,)00000000000000

n!
P(Xi =k, Xo=ko,--- , Xy =kp) = mp[flpgz it

0000k +k+---+k,=n00000000000000O0O0O00000O
000000000 x40 100000000000 B(n,pl)DDDDDDDDDD
00000 L=400000000000000000000000X, =k, Xo =k 0000 X3+X4 =
ngi=n—k —k, 000000
ns
ZP(X1=k71,X2:k2,X3=k3,X4=n3—/€3)
k3=0

P(X1 =k1,Xo = ko)

nz—ks

/{Jl!kg'ng'pl p2 Z ]{?3 ns — 1{33 'pg p4

n!
= kl'kgln |p1 p2 (p3 +p4)
00000000000000000 (X1,X,, X3+ Xy)OOOOOOOOO

P(Xy=k) = Y P(Xi=k,Xs=k)

: k1 n—k g n—k
= R — + + 1 = 1 — 1
kel (n — kl)!pl (p2 + p3 + pa) <k1> Pt (1=p1)

3000000 ng3=n—k1 —k,, 000000 p1+pa+ps+pa=100000 O
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(i) 0000000
p= (..., pn) 0 n00000000 = (0;)00000n000000 X =(Xy,...,X,)0000
00000000000000 000000 N, %) 0000

1
2m)n/2(det 2)1/2¢

Flan,... an) = ( (- =" (z—p)
D000z = (z1,...,2,) 0002’0 000 (0000000O00)0000

000 R"O0000D0100000000000000000000

Y 0000000000000 00000000000000000000 POOOOOOOOOOO
0000 D= (dy) 00000PEP=D000000000y = (y1,..,9n) = (x—p)POO0O0O0
D'=(P'EpP)'=PX'POO

_ _ _ "1
(- WSz —p) =yP'S' Py =yD 'y =) ]
j=1 73

00000000 & =detP==1,detS=detD =[]/, A\;; 0000
n o'e) 1
/"'/nf($1,---,wn)dm1---dxn=H/OoWe
Jj=1

2
Yi

Nl=

oood ]

25 U00OO0OO0OOOO

gboooooobooooooooboooooooooboooooboobooobDobDobDobOobDOobOoDbOoDbo
O00000oooooooooooooDoO0O0O0o00000oo0oo0o0DDDLebesgue D000 Radon-
Nikodym OOOOOOODOOOOODOOOODOOOODO

0000000000 (X,Y)020000000000000000 PYeAX=x)O0OOOOO

() X0OOOoOoOoOoOooooo
X00O00000 {z,2,...}00000P(X =2,;)>0(Yj) 0000000000000000

P(X:l‘j,YEA)

})()7 S 14|}( = mj) =

0000000 X=2;000000Y00000000000000000P(X=2)=00002z0
gboooboooooogn

(i) X0O0DODOO0OO0oOoOooooo

0000 P(X=2)=0(v2)00000000000000

X0O0O0O0O0000 fx(zx)0000(0 (25)0000000000)0000000000 20 fx(a)
00000 fx(z)>00000000000P(Y <y X=2)00000000000

PYeAX=2)= lim PY€Alz<X <x+90)
5—+40

D000000000é, =a+%0b-a)0000000

b n &k
/ PY € AIX =2)fx(x) dm:nlgrr;OZP(Y€A|§k,1 <X <&) fx(@)de =P(Y € A,a <X <b)
a k=1

Ek—1
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00000000000000(X,Y)OUO0O0O0OOO f(z,y) DOODOOOOOOOOOODOOOODO

z+6
PY <yz<X<z+0d) fer Yo f(s,t) dtds

PY <X = =

gooooooooés00O0dI—-+000000000000O0ODOOODOODODOO

[ flat)dt
fx(x)

00000000000 X=20000Y0ODDOOOOODDODDOOO000O fyx(ylz) O

PY <ylX =z)=

Frixla) = 2220 (2.7

00000000000 fyx(yle)0OO0 X=20000Y0DO0OOOOODDODOOOODO (]

024 (X,v)o 20ooooo N((M),==("" “?))oo0000oOO0OE0000000
M2 012 022

0000det(AM —X) =A% — (011 + 022) A+ 0110920 — 02, =0000 20000000000011,02 >0,

0’% g102p0

2

011092 — 03, >000000000007,00 >0, [p|<100000% =
g102p0 g5

)DDDDDD

1 1/02 -
0000detE = o0202(1—p2)0 271 = ~ /o1 MWfﬁ 000000(X,Y)0D00O0
L=p* \-p/(o102)  1/o3
00

_ 1 1 (x — p1)? C 2p(x — )y —p2) | (y— Mz)
Jz.y) = 27T0102m exp{ 2(1 - PQ){ 2 * }] (2.8)

g1 0102 o2

agood

DDny‘X(y|$)DDDDX=mDDDDD Yooooooooo

000XO000000 fx(x)00000(2.8) 0000 {--}000y00000000000
1 2

L Y T r P )2
05[(1/ 2) o1 (x—p)| + p (x — p1)

DDDDDDt——Vﬁ:b pg — L2 (z — )] 00ODODO

(e
_(z—pp?  poo 2 1 _(z—pp)?
/ flz,y) 207 / e~ T dt = e 21
x, =
27"'01 — oo V2moq

000D0(@O000 X000000 N(w,e?)00000000000)0000

f(z,y) 1 (y — {p2 + 222(x — p1)})?
Frix(ylz) = - exp|— e
[x(z) \/ZWJQM 203(1 — p?)
00000000X=200000Y00000000 N(ue+22(z—m),05(1-p%)0000000
ooooog O

Kry (0<2,0<yz2+y?<1)
0 (0oo)

00 2.1 uﬂqmmmmmmmmﬂmm_{ oooo

(1) 00 KODOOOO

(2) XO00DODOOOO fx(x)O0ODODOO

(3) 0<2z<1000 fyx(ylz)DOOOPY >3 X=4000000
(4) T=X+YO0OOOTODOO0OO Fr()D00D00 fr)00000
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Vi—z?
1—/ facydxdy—/dx/ Kxydy =-- ——[II:IK—S
R2

8
(2) fx(= / flz,y)dy000x ¢ (0,1)0000000 fx(z)=0.0<x<10000
Vi
fx(x) = / 8xydy = 4x(1 — 12).
0

@.nxwuwzﬁﬂy
x(x

_ 1322 (OSyS V17x2)
1 o (0ono) '
V3

) Awhm@ﬁyw=/21féyw=§

1
2

(4) t<0000 Fr(t)=0,v2<t000 Fp(t)=1000000<t<10000

P@>%M—

¢ ¢
1
FT(t):P(X‘FYSt):/de/O 8mydy:~--:§t4.

1<t<+y20000zx+y=¢t22+92>=10000 2000 o8 (a<B)00000a+8 =t,
t?2—1
af = .0000(B-a)?=2-t000000000000000

B 1—x2
1—Fp(t)= P(X+Y>t)=// Smydxdyz/ dm/ 8xy dy
t—r<y<y1—2? o t—x

[f%mu_x%—4mt_@q%m:[img_h#_%ﬁ_lmﬂg

[

= (3- ) {3t (67— aB) ~ 2a+ B)a® + )~ 2 - (e + )

—‘V29{§Mﬁ+1)%@2ﬁ+1)ﬂﬁ1ﬁ}—“.—§ﬂgﬁf@
00ooooooon

0 (t < 0) 0 (t<0)

1 4

—t 0<t<l1 —t? 0<t<1
Fr(t) = , 3 (<)7fﬂﬂ=iﬁw= \ 3 0<t<1)

1—§ﬂ2—ﬁfﬂ (1<t<V?2) §QH—1%Q—¢2(1§t<v@
1 (V2 <t) 1 (V2<t)

2.6 UO0O0O0OOOOO

00 2.8 (1) 000000 X1, Xs,...,X, 000000000000 1,2,...,2, € ROOOO
P(X; <x1,Xo <o, , X, <wp) = P(Xy <21)P(Xg <22)--- P(X,, <) (2.9)

ooooboooono
(2) 0000000000 {X,}0O000000000000000000 X,,,...,X,, 0000000
goood

000000 X1,Xe,...,X, 0000000000000 BorelOO By,...,B,c ROOOO

P(Xl € B, X5 € BQ,"’ , Xp € Bn) :P(Xl € Bl)P(XQ € BQ)P(Xn € Bn) (210)
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000000000000 (Lebesgue 00000 O0O0OO0OO0OO0ODO)00000OOOOOODOOO
P(X1=$17X2:$27-'~,anxn)ZP(XlZl‘l)P(XQ:JZz)-"P(Xn:]}n) le,xg,...,a:neR

gboboooooooboooooobooooboboboobobobobobooboboobobooooo
oboooboobooooobooog

00 29 0D000O0OOOCOOOO X,,...,X,0000000000000000000 (X4,...,X,)0
0000000 f(z,...,2,), X; 00000000 fx,(2) (j=1,...,p) 00000

f($1,],‘2,...,.13n):le(JH)fXQ(xQ)"'an(-Tn), vxhx%"')anR (211)
gooooooooon

O0: 0000000000 (29000000000

/:.../j;f(tl,t2,...,tn)dtl. / 7(t) dt) x(/:f(t)dt). (2.12)

ooo z,---,2z, 00000 1000000000 (211)0000000(2.11)00 ;0000 (—o0,z;]
0000000000 (212)0000 U

025 X=(Xy,....,X,)0 n000000 NW,2)0000000pm= (t1,..., ), = (0i;) 00
0000000X,,...,X,00000000000000000X00000000000000i%,0
00000400, =0000000000

O0: (000) 00000000 2 '00000000 45000 1/o;;, 0000000000

1 1 1 n 1 _(@i—n?

—z(z—p)'E7 (z—p) _ - 20, (2.13)

e 2 e . .
(27)"/2(det X)1/2 Jl;[l,/Zﬂ'ajj

oo00oooO0ooooooo2900000000000000

(I:II:II:I) DDDDDDDDDD(DD4.12DDDD)D O

026 X,,...,X, 0000000000 (..d.000)0000000OF(z)0 X;0000000000
oooooobooog

(1) Fiy(z) O Xy i=max{X1,---,X,} 0000000000 Fy,)(z)=F(z)"0000
(2) Foy(z) O X :=min{X;,---,X,} 00000000001 - Fy)(e)=(1—F(z)" 0000

00: (1) Fx,,(2) =P(X1 <w=,...,X, <) = H?ZIP(XJ- <x)=F(x)".
(2) 1= Fx, (z)=P(Xq)>2)=PXy >2,...,X;, > ) = H;.lzl P(X;>z)=(1—-F(x))™ O

0 2.7 X;,X,000000 X;0 Poisson00 Po(\;) (A >0)000000Y; =X14+X,0 Y, =X,
0000000000000y, 0000000000

O: (Y1,Y,) 00000000 (y1,p) € Z2%:91 >4 >000000000000000

e
P =y Yo = 12) = P(X0 =91 = 92, Xo = po) = i e ™ ™

O0o00oo0ovyvwoooooOy,e{0juNDOOOO

Y1 AV Y2 \V2

Y1
PYy=y) = Z 7( 1 2 oM ' Z < ))\yl v2\Y2e “A1—X2 _ (A1 + A2) o~ (A1tX2)

— o) lyo! !
ya—0 Y1 y2)lyo! 42=0 Y1

0000000 Y70 Poisson 00 Po(A + X)) 000000000000 O
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3 Uooooon
3.1 Ooog

3.2 0ODOUOOooOoooDooOod

0000000000000 O0O((@UUoo0oU0ooOooooooUon)

3.3 buuoubobobouodgn

00 3.1 2000000 (Xy,...,X,) 000000 fx(z1,---,2,) 0000y = w2y, - ,2n) (1<i<
n)0 fx(z1,--,2,)>0000000000 (1)~(3)0000 R*00 R"00 /0 1000000

(1) 00 y; =ui(z1, - ,2n) (1<i<n)00000000 z;=v(y1,+,uyn) (1<i<n)O000O

0ooooo
O0x;
(2 )
@)DDDDDQQ&L!&QDDDDDDDDD
a(yla"' ayn>

00000Y =w(Xy,-+,X,) (1<i<n)0000000 (Xy,---,X,)0 (Y1,---,Y,) 000000
oo, --,Y,)0000000000000000 fy(y, - ,y) 0000000000

8(1’13 cr 7xn)

fY(yla"' ,yn):fX(Ul(yl,"‘ 7yn)a"' 7'Un(y1,"' ,yn)) 8<y1 Ly ) .

O00: (a1,---,an) € R"O000 E = {(z1, - ,zn);ui(x1, -+ ,2,) <a;,1 <i<n}00000000
00 EQ E ={(y1, ,yn);vi <a;,1<i<n}00000000000000000000000O0
gd

P()/léala"'vyn<a) U1 le 7X)<a17 7UH(X17"'aXn)San)

P X B = [ oo [ el i
E’
Ay, aq

00 3.2 (X, Y)0OOOUODO f(e,y) DOOD0O0D0O0OO0Z=X4Y0OOOO ZO0OOODO fz(2) O

z)_/o:of(t,z—t)dt

O0: Z=X+Y,T=X00000D0OO0O00D0DX =T, Y=Z-TO0O0OOODOOO

good

0000003100 (1,2)000000 fiztz) = ftz—t)| 1= f(t,z—$) 000000 fz(2)
0 Z0O0OOOO0OOOOOOO00t00000000000000000000 O

00 3.3 0000 X,,...,X, 000000 X;00000 N(u,e?)000000000000Y =
X1 4--+X,00000 NP, i, Y0, 02)0000
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oob: n=20000000000000000X,+---+X,0X,,00000C0O0O0OODOOOOOO

2

1 _(®i—mi)
DDDDDDDDDDDDD)QDDDDDDin(xi):ﬁ e 0000(X,,Xe)000000
yer;

00 fx,(z1)fx,(22) 00000000000Y =X, +X,00000000 32000

fy(y) = /OO ! exp[— (t = m)” - (yitiuz)Q} dt.

o 2T0109 20% 2(7%

Ub000u=t—mUO0000exp 000 «00000000000

W (y—u— = pe)® (O?Jrff%)[ _U%(y—ul—uz)r_(y—m—uz)2

202 a o? + o2 2(0%? + 03)

2 2 = 2 2
207 205 20705

p) p) 20, o
DDDDS:V01+U2[u—01(y 1 “ﬂummm/ =3’ ds=2r00000000000

0102 o2 + o3 o

L [ omomw)?
fyr(y) = QW(U%JFU%)GXP{ 2(0%? 4+ 03) ] .

00 3.1a>0,>000000000 XO0O0ODO

a—1,—%

w2 ™5 (2> 0)
2) = J T@p
peta) = { TR 20

obooboooxooooon F(a,ﬁ)DDDDDDDDDDDF(a):/ z* le®dr 00000000
0
0000000000 IN(y,2)000000000v0000000 x20Ooooooo

00 3.1 (00000 B(p,q) 000000 I(p)000000000) 00000000
(1) T(1) =1, I(3) = V7.
(1) T(p+1)=pI'(p) (p>0) 000000 nO00O0I(n)=(n—1)0000

I'(p)I'(q)
I'(p+q)

oo (1) r(1):/ e Tdr=[-e"]| ) =1,
0
1 <y NS a1 * e V27 1,
I’(E)—/O x " Ze dm—/o (5) e tdt =2 i e 2 dt—\/§7—\/f (m—it)

@ te+y= [ (e da = [t e 4 | prteey a = )

1
(3) B(p,q) = (b,q>0). 0000 B(p,q) :/ 21 —2)" d (p,q>0) 0000000
0

(3)DIZIDD:x>0,y>0DDDDDF(p)F(q):// e TPyl dpdy 00 D00000n >200
D

1
re<y<(n-1)e00000(K,}0D00000000000000D

n —

1
00 K, :—<zx+y<n,
n

1 1 1
O0z=w,y=u(l—-v)000000 u:m—l—y,U:LDDDKnD F,:—<u<n,—<v<1——
x+y n n n
0
noooooooooo 28Y _ _,oooooooo
0(u,v)

// e TP lya—t dmdy:// e~ WUV ()P (1 — 0) }97 Y — u| dudw

n n

n 177%
:/ uPtate du/ VP11 — ) v
1 1

n

0000n—oo000 D(p)T(q) =T(p+q)B(p.q) 00O DO O
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00 3.4 0000 Xy,---,X,000000 X;000000 INe;,3)000000000000Y =
X;4+---+X,000000 (X", a8 0000

ob: n=20000000000000000X,+---4+X,0 X,mOOOOOoOOOO0OOOOOOOO
OO00O0O0O0O0O0D0000X, 000000 fx,00000Y=X;+X, 00000000 32000

o 1 max{y,0}
frlw)= [oo SO fx,(y = dt = [(ag)T () pertaz /0 t Ty — 1) e

t+

S dt (3.1)
y<0000 fy(y)=000000y>0000t=ys000000000

Y 1
/ talfl(y _ t)OLQfl dt — ya1+o¢271/ 8&171(1 _ S)agfl dS — ya1+a271B(a1’ a2)
0 0

0000003.1(3)0000 (3.1)000000

1 ar+ap—1 D@ (a2) —y 1 T

fY(y) = F(OQ)F(OCQ)BQFHXZ F(Oél + Oéz) F(al + a2)ﬂa1+a2

00 385 0000 XOOOODOODO N(0,1)0D00D000000X?20000 10000000 0
oooo0oO00000 X,,---,X, 000000 X;0000000 N(0,1)00D00000OO0DOOO
Y=X{+--+X20000n,000000020000

00: XO N(,1)0000000(=|201010000000028000000)e<0000
P(X2<a)=000¢>00000

P(X? <a)=P(—/a< X < a) /ﬁ Ly 2/ﬁ L -teg
a) = —\/a a) = e 2 xr = e 2 X
o - —Ja V2rm 0o V27

Va1 s © 1 .,
2 e 2% dr = e 2Yyz2d
/0 V2T /0 V2T 4 Y

Dooorl)=v#00000000000000000000X,,---,X,00000000X7,---,X2
0000000000034000000000 O

O000y=2200000

00 3.6 (1) 000D Y, Z0OODODOOOOOOYOOOOnO0OOOO0OO0O 20020000000

N(0,1)0000007T = f/DDDDDDDjﬂﬂDDDD
n

_nt1
2

[0 ——
T = T —n(n I\ .
VnB(3,3)\ n
goooroodod ~0t0od ¢, 00ooooo

(2) 0000 X, YyODOOODOOOODOOOO me0000000 2,x2000000W =3"00

Y/n
00000 fww)OODO

oooowooog (myn)0 FOO FPO0000000

gbooaooaan |
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4 00U

4.1 Lebesgue ][

Lebesgue 10000000 R*00 Borel D000 ¢(z)0 nO000000 X = (Xy,-+-,X,) 000
IZID/gp(X(w))dP(w)DD[IDDDDDDDD
Q

Ist step @(®)00000000000¢(@) =30 axla(®)00000000000a,...,ay € R,
Ai,...,AyeB(R") 0O0O1,4(xz)0 ADDDOOOODOO

1 (z€A
La(z) = ( )
0 (z¢A)
0000000000000 00(000 well-definedDOO0OOO0O0OOOOO0OOOOOOOOODNO)
/cp(X( )) dP(w ZakPXeAk) (4.1)
Q2 k=1

2nd step (x)>000000 ¢qeNDOODOOO

i+ 1
24

Aq7i:{x€R”;i§@(m)<

24 } (1=0,1,...,¢q27 = 1), Aq,qu:{wGRn§<ﬂ(m)ZQ}

q2?

DDqu(w):Ziu (z)0000000000¢p,(x)00000 (4.1)000 /(pq(X(w))dP(w)D
i=0 Q@
0000000 Ay; = Agr1.2iUAgr22i01, Agr12i N Agiooin =0 (i =0,1,...,¢q2¢—1) 000000

2141

X € Aq—‘rl 21) + P(X € Aq+1,2i+1)

i) < g P

DDDD/@( (w)) dP(w) < /QOqul( (w))dP(w)DIZID[IDDDD{/goq(X(w))dP(w)}DDDEID
Q Q
00000000000000000¢—o0o00000000000000000000O0O00OO00OOO

/Q P(X (@) dPw) = lim [ ¢,(X(w))dP(w). (4.2)

q—o0 Q

3rdstep 000 () 00000

¢" () =max{p(z),0}, ¢ (x) = max{—p(x),0} (4.3)

DDDDDDDDDQ@(m):go*(m)fgo*(a:), lp(z)| = p*(z) + ¢~ (x) 0000O00O0000000000
DD/|gp )| dP(w) <ooOODO (DDOO0ODO 2ndstep0000)00 x=+,—0000 2nd step 00

DDOS@($)§|@($)|DDO§/@*( /|<p )| dP(w) <co0ODOOOD00OO0DO0
Q

/ P(X () dP(w) = / o (X (@) dP(w) — / o (X (@) dP(w) (4.4)
Q Q Q
ggoood

00 41 0000000wB)=P(X eB) (BeB(R"))DDODOD0DODOOOOO0OO p(X0O0OODOO
D)DDDDD/ o(z)du(z) 000000000000000O0R=1000000000000 XO
Rn

oo

0000 F(z)DDDDD/ o(z)dF(z) 000000000

— 00
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000 Lebesgue 000000 41,420 0000000000000 000000O0O0O0O0OOOOO)

o0 4.1 (1) DDDDDDDDDDDDDDD(DDDDDDDD 4.5’|:||:|[|[|D)
(2) ox) >0, /Q P(X(w) dP(w) = 0 = P(p(X) = 0) =

00 4.2 P(e(X) =0) =100000000000000 (almost everywhere) o(X) = 00000
Op(X)=0ae00000@0OO0O0O0OO (almost surely) 000 M o(X)=0es0000000000)

00 4.2 (1) (000000) (R, 000000000000000 {f,(x)}0000000000
00000,0< fi(z)<-- < fz)<--- ae. 000000000000

Jim [ @) dute) = [ (Jim £,(0)) duta).

(2) (Lebesgue00000) (R, 000000000000000 {f,(x)}00000000000
M(x)D/M(x)d,u(x)<ooDDDDDEI (000000)000000|f(z)| < M(z) ae (q=1,2,...)
R
000000000000000f(z) = lim f,(z) aee. 0000000 f(z) 000000000000
q—o0

00O
lim/fq ) dp( /f ) du(x
q—00

4.2 0O0O0OO0OO

§4.1DDDDDDDDDDDD¢ZODDDD/|<p(X(w))|dP(w)<ooDDDDDDD E[p(X)] O
Q

Blp(X)] = / P(X (@) dP(w)
Jdoooooooooooooooooooogoo

00 4.3 ¢,v: R*"— RO BorelUOOOUa,b,c000000000O0O0OOOOOOOO
(1) o(X)=c (@00O)ae O0O0O00OEFEpX)] =
(2) ¢(X) <9(X) ae. 0DODElp(X)] < E[H(X)].

(

(

(3) [E[p(X)]] < Ellp(X)]]-
(4) Ellp(X)[} < oo, E[P(X)[] <00 0D OO Elap(X) + b(X)] = aE[p(X)] + bE[Y(X)].

000X UOO0O0O0OUO0OO0O0O0O0U0O0O00O00U000000000000e: R"— RO BorelOOO
ooooo

00 44 XUOUOOOODOOOOOODODODDODOOOOO @x,z9,...00000
oo
= (@) P(X =) (4.5)
k=1
O0: ¢>0000084.10 2ndstep0000 @ () 0000000

q29 . q24

BeyX)] = Y opXean=Y 1L ¥ Px
ie o i=0 ° kig€Ag;
q21
= Z Z ¢q(r) P Z‘Pq xy) P xy)
i=0 k:xrp€Aqg 4
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0000{e,}0000000000000 lim ¢,(z)=¢(x) 00000000000 (0000000)0
q—00
0000 (45 0000000000044 000000000000¢>00000000000 O

00 4.5 XOOOOOOODOOOOoOOoooooooo f(z,...,x,) 00000

- //R 90(.’131,...,33p)f($1,...,$p) dxl"'dxp' (46)

O0: 0000000000 10000000000000D0 440000000 ¢>000084.10 2nd
step0 ¢,(x) 000000

q2? . q24

Elp,(X)] = QqPXEAqZ qu/ f(z

- Z / eola)f(@)da = [ (o) f(a) da

O0000{ge(z)f(z)}0000000000O0000O0OOOOODOOO (46)0000000 0000
O00()0000 44)000000000000O0O0O0 (]

00 43 2000000 (X,Y)U0 XO0OOOOOODOOOO a3,2e,...00YOOODO0OOOODOOODO
BorelOO f(z,y) OOOO

P(X:xk,Yga):/ fzr,y)dy ac€R, k=1,2,...
goooood
0(X,Y)] Z/ ook y) f(2,y) dy

000000000 4.4, 450000000000

obooobOobooooobobooobooboooooonoo

00 46 0000 X4,...,X,000000000¢;,---,90,0 Borel00O0O0O0D000000D0000O
00000 50 Ellgj(X;)]] <coDDD DO E]p1(X1)e2(Xo) -+ ¢n(Xn)|] <ooDDDDDDOODODO

Elp1(X1)p2(X2) - on(Xn)] = Elp1(X)]E[p2(X2)] - - Elpn(Xn)]. (4.7)

00: 00000 n=2000000000X,=X,X,=Y,01 =, 0, =10000

Ist step (), ¥(y) D000 @) = 20, aila,(x), ¥(y) = Zévzl bilp,(y) 00 O0O1a(2)lp(y) O
r€A00yeBOD0O00100000000000¢(@)¢(y) =i, Y0, aibjla,(@)lp,(y) 000
00000000028000000000000

M N M N
Elp(X)y(Y)] > aibP(X €AY € B;) :ZZ b P(X € A;))P(Y € By)

=1 j=1

M N
Z a;P(X € A;) Z P(Y € Bj) = E[p(X)|E[(Y)]

2nd step ¢ > 0,0 >0000084.10 2ndstep 000000 ¢qe NOODOOODODO g9, 0000
0000000 1st step OO0

E[‘Pq(X)wq )] = E[‘Pq(x)]E[wq (Y)]
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00000000000000(004.2(1)000¢— 0000000 (4.7)0000000E[e(X)]] < oo
00 E[¢(Y)]] <ocoO00000E[e(X)(Y)|] = Elle(X)]E[¢(X)]<codDD00000000
3rdstep OO0 ¢, 0000 (py)(z,y) = (z)y(y) D0000000000000(4.3)00000

et o7, 0t T, ()T, (py)- 0000000000
()" (z,y) = T (@) (W) + o~ (@)Y (y), (o) (x,y) = (@)™ (y) + ¢~ ()¢ T (y)

gboobooaobodadg

Elp(X)ER(Y)] = (Ele™(X)] - Elp~ V)N(ERT(X)] - B[y~ (V)]
= (Elg" (X)]E[T (V)] + Elp™ (X)E[p~(Y)]) - (E[( )E[™
= (Elg™ (X)oT (V)] + Elp™ (X)y~ (V)

= El(p¢)"(X,Y)] = El(py) " (X,Y)] = Elp(X)p(Y)] O

E
S
Py
LR
<
3
+
=
€|
=
<
Py
=

43 00 ((OOoOO)yood
00 41 XO0OOOOOr>00000

(1) E[X"]0r0000 (@O0000)0000
000r=10000E[X]0 X00000000000000

(2) p=FEX|0DOD0OO0O0O0OE(X—w) 000000000 00000000
000r=20000E(X-w?0X000000VX)00DO000O00s(X)=V(X)/?20 XO
Dooooooo

(3) mx(t)=F[X],tc R, 0 XO0000O0D0OO0OOOyx(t)=logEe!X],te R, 0 XO0ODODOOO
0o0oooood

gboabuogboobooboboaoboaobooboobooobaoboao

00 47 XOr0OOODOOOODOUOOs («r)00000O0OOOO

O: |X]* <max{1,|X|"}<1+|X|"000000E[X]<1+E[|X|"]<cc0D0D000000 O

D0000D00E[X?<c000000 EX]0000000000000 (X—¢)?=X2-2cX+c2
0000000000 V(X)O0ooooo

00 48 E[X)<o0c00000000000OOOO

(1) V(X)=E[X? - E[X]".
(2) V(aX +b)=a?V(X) (a,b6000).
(3) V(X)=0000 X=pae, 000 p=E[X].

00:(1),(2) 000000000@)00041(2),004200000 O

0 4.1 OO0OO0OO0OO0OOOODOOOOOOO0ODOO0

[A) 000000000
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(1)oooo B(n,p)
P(X=k)= (Z)pkq”’k, k=0,1,...,n,(¢=1—p) 00

n

_ k_ (n—1)! k=1 n—1—(k—1)
BlX] = Z kl(n 'pq - Z k—Dln—1- k-1t ¢
= np(p+) :np.
oog
_ . n! k n— 2 - (n —2)! k—2 n—2—(k—2)
E[X(X -1)] = ;k(k—l)ik!(n_k)!pq n—lpkz PRy Ry T
=0 =2

= nn—1)p*(p+¢" *=n(n—1)p°

O0O0D0OD0O0EX?=EXX-1)+X]|=EX(X-1]+EX]=nn-1p*+np. 00D0O0OV(X) =
E[X?] — E[X]? = np(1 —p). O

(2) Poisson O O Po(\)
k

A
PX=k)="e?*k=0,1,...00

k!
— A Ans AR A
E[X] = AP - A
(X] kzzokk!e Ae kzl(k_l)' e e A
gooooooooooooo
> Ak 0 \k-2
EFX(X-1)] = k(k—1)>=e = A2 =N et = A2
k! (k —2)!
k=0 ’ k=2 Vv )

00000000V(X)=EX(X-1)]+E[X]-EX]2=X+A-X2=X00000E[(X —A\3 =),
E[(X-NY=X+320000000000000000000000000000

(3)0000
(oo}
P(X=k)=q¢p,k=0,1,...,(¢=1-p). 00000 > 2¢000000 10000000z <100
k=0
000000000000000

;kxkA _ %(Zgjk> _ %<1ix) - _11,)2

k=0
('] L d R 1 o d 1 _ 2
kzzzk(k_l)xk - dx(;kxk )_%((1_@2)_(1_@3
0000
B B ko1 _ _4
E[X] = qup qukq 1_q) p’
V(X) = E[X(X-1)]+E[X] i’“ (k= 1a"p + EIX] - BX’
k=2
¢ 4 (9 _ 4
- (1-9P p (p> G
q2+q

O0O0E[(X - E[X])3] = o 0000
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(49000000 NB(a,p) (a>0,0<p<1)
-1
P(X:n):(a+n )pa(l—p)",n:0,172,....
n

DDD(OH—Z_l) _ (a+n—1)((jl!—|—n—2)~-~oz :(_1)n(—a)(—a—1)7-1-!-

(co—nt) (—a)

n
00

0 @1+az) =3 (no‘>x”(|x|<1)mmmi_ojop(X:n):mDDDDDDDDDD(1)—(3)DDDDD

n=0

E[X] = gn(a +Z - 1)po‘(l —p)" = g(—l)”n<_na)pa(1 —p)" =p" in<_na) (p—1)"

n=1

P-a)p -1 (_“ -~ 1) (1" = p(—a)(p— 1)(1 +p— 1)t = 2P

n=1 n—1 p
00O0O0n(n— 1)(?) = (—a)(~a—1) (_na__;) 00 EX(X-1)]00000V(X)= a(1p2— Yoo
00000 E[X - E[X])? = MDDDD

(5) 000000000

000000 o, = (=) % k=1,2,..., 00000 P(X = (-1)k1k) = k=1,2,...00

k(k+1)

0oo

P(X = (1) k) = (f— ):

SRTIEVEIE S CREE I

k=1 k=1
000O0X0000000000000

BIXD = 3k =i =

A CES IS

ubobooboboooobooboooog

S = Y e B D=
k=1 k=1 =1

bobooboboooooboooobobooooobouoooboboooboOooboooon

[B] D00O0O0O0O000O0O0
() 0000 N(p,02)
DDD/ ze**/“‘dz:/ (—e**/?Ydz=100000000000

0 0
/ 1 <z w d / | n | %
T = oz e
27m \/ a

< deru / 7*d2*
V2 / V2 V2T
DDDDz:z;—“DDDDDDDDDDDDD E[X]DI:II:II:IDD
/ ~CE / Fpe = d
r=— oz z
27ra V2T H
= 2dz—|— — e*%dz: .
V2T / /J\/27T/700 s

E[X]]

T+ || < oo

E[X]
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oood

Ve = Bl = [ e = [ et
— _ — T — e o x€r = z e z
K o a 2ro V2T J oo
g% [ ( 2\ o? 52700 g2 [ 2
= —e_7> dz = [—ze‘f] + —/ e~ 7 dz =o?
V2T J oo V2T —oc0 V2T J_oo

b
E[X]:/xbl dx:a+b.

oS o0 1
_ —Az | AT —Azx —
E[X] = ; xAe” N dx [xe }0 +/0 e dx 3
e 1\2 2 142 1
o 21 2 _ 2y ,— Az _ (= —_ - _ (= [
V(X) = E[X?] — E[X] /Oer dz (A) = (A) =
(4) Cauchy O O
1 1
Xl:lChaucyDDDDDDDDDDDDDDDf(m):fﬁ(—oo<$<oo)DDDDDDDDDDD
Tl+4x

gooobooooo

<1 1 1 oo 1rm ™
T R
/OO7T1+£L'2 R e ( 2)

> 1 1 2 [ =z 271 00
= de = 2 = d :,[,1 1 2} =
/, |x‘7r1+332 . 7r/0 1+2 " 7 20g( Jr:E)o >

oo

OO00000ChaueyOODOOOOOOOOOO

gooan

44 0DO0OOOO0OO0ODOO

0002000000 X0 E[X? <ec000000000000000

00 4.9 (Cauchy-Schwar0000) X,Y € [*(Q)0000EXY]O000ODODO
BIXY]? < EX?E[Y?] (48)

0000000000000 00000000O(a,b)#(0,000000 ,b00000 aX +bY =0 a.e.
ooooobooobooo

O0: |XY| < 3(X?+Y?)DOO0E[XY|] < 3(E[X?|+E[Y?) < o000 EXY|O00O00O00O
E[X?]=0,000X =0ae 000048 00=000000000000000a=1,b=0000
aX+bY =0ae O000ODODOEX?>00000

E[XY] }2 _ (E[XY])?
E[X?] E[X?]
000D +00000000000@48)000000000M48)00000000000(4.9)0 ¢t =
—EXY]/E[X} 0000 E[tX+Y)]=000000000¢tX+Y =0ae. 0000000aX +bY =0
ae. DODOOOPX#0)>0000£00000000000000000Y =aX/bae. 00

0 < E[(tX +Y)?] = £2E[X?] + 2tE[XY] + E[Y?] = E[Xz]{t + +E[Y? (4.9)

By = (9 B, BxEy?) = B () B

0000008 0o0oooooon U
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041 X,YeL*Q) 000 E[(X —m)(Y —p)]000000
[E[(X = pu)(Y = p2)]? S V(X)V(Y) (4.10)

0000000000E[X]=m, E[Y]=p0000(4.10)00000000000000000/(a,b) #
(0,000000 a,b00000 a(X —p1)+b(Y —pg)=0ae 000000000

00: 004800 X, Y €L?(Q)000 X —pu,Y —pu € L2(Q) 000000000000 490 X,Y
O|X—w|,|Y—-p00000000

E([(X = p)(Y = p2)* < B[(X — p)’| B[(Y — p2)’] < o0

OO00E[(X —m)(Y —pp)]000000000000490 X,Y0 X —pu,Y —p, 000000000
O

00 42 X,Y € L¥(Q)000000 X,YOOOO Cov(X,Y)DODODODO p(X,Y)0O0O000000

Cov(X,Y) = E[X —p)(Y —p2)] = E[XY] = n E[X]| = 1 E[Y] + papio = E[XY] — papua,
Cov(X,Y)
ARY = v

0000w =E[X],p=E[Y]00000000 V(X)V(Y)>000000000000000000

00 4.10 0000 p(X,Y)OOOOOOOOOOO

() 1<pX,V)<1
X*,U,l_qug
= a.e

VX V)

X - Y —
(iii) p(X,Y)=-10000 e S S N

V(X) V(Y)
00: () 000041000000
(ii), (i) 000D 41000 (a,b) # (0,0) 0000 a(X — 1) +b(Y — pz) = 0 ae. 000DO0O00D
a2(X — )2 =Y — )2 00000000062V(X) =b2V(Y). D000V(X)V(Y)>000 a,b00
00 0000000000000 00000000000000)0000Y — s =—a(X —m)/b ae.
fsfs

(i) p(X,Y)=10000

ay? E[72(X — 1) a
vy = (§) VX, p(x,Y) = V(X)bl/2|%|v()1()1/2 _ ,@.
00DO0p(X,Y)=10007 <00 3 =— “;E;;,p(X7Y):—1DDDZ>OD 2= “:83 0o

ooooooo O

p(X,Y) =10 X0 YOOOOOOOOOOOOp(X,Y)>000000000p(X,Y)<00000
0000000000p(X,Y)=0000 XO0YOOOOOOOO

24zy (0<2z,0<y,z+y<1)
0 (oo)
00000 Cov(X,Y)0DOOO0D p(X,Y)0DDOOO

00 4.1 0000000 f(x,y) = ooboo0oob X, yooooo

O fx(z), fr(y)0 X,YOOOOOOOOOOO0<2<10000
1-x
fX(m):/ 24y dy = 12x(1 — x)*
0
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000 fx(z) = H%I_mQ(iséi;).DDDDDDﬁﬁA:{laf_yV g§§§? 0o
00000000310000000000

E[X]/leIZx(l —x)tdr = 12/01 23(1 —z)?dx = 12B(3,3) = 12”32)(3) = 1225%!2 :% (= E[Y])
mxﬂzézﬁuml—m%mz1{42&1—@%&:1%%&@:tf%£§):u&m!:émm
V(X)= E[X?] - B[X] = % ~(3)' =% v,

(00: fx(z)DODDOE[p // ) 24rydedy000000000)00 D:0<y<1l-z,0<

z<100000

1 -z 1 1z
E[XY]:// J;y24a;ydxdy=/ dm/ 2422 dy:/ [8x2y3]y . dx
D 0 0 0 y=

2/18x2(1—x)3dx:8B(374):- . % og
0
2
Cov(X,Y) = BIXY] - EXJEW] = = — (3) ==
Cov(X,Y)  —2/75 2

X7 = = = ——.
XY VOvY) /25 3
00 411 0000 X,YOOOOOOO (i)~(iw) 0000000

(i) Cov(X,Y)=0.

(i) X0YOODOooooo
(i) E[XY]= E[X]E[Y].

(w) V(X+Y)=V(X)+ V().

00: (i) < (i): 00000000
(i) <= (iii): Cov(X,Y) = E[(X — E[X])(Y — E[Y])] = E[XY] - E[X]E[Y] 000000
(i) <= (iv): V(X +Y) = B[(X - E[X]+Y — E[Y])?] = V(X) +V(Y)+2Cov(X,Y)0DOOOO O

00 44 X,yO0OOOOOOOOOOOOOOOOOX,YOOOOOOOOOO 4600 (%)0000
00000000 417000000000
0000000000000<q<1000P((X,Y)=(0,1))=gq, P(X,Y)=(1,0) = P(X,Y) =
(-1,0)=(1-¢)/20000000 X,yOOOOOO

PX=0=PY =1)=P(X,Y)=(0,1)) =¢q

00 P(X=0Y=1)=P(X,Y)=(0,1) #P(X =0)P(Y =1) 000 X0 YOOOOOOOO
00DPXY =0)=P((X,Y) = (0,1)) + P((X, ) (1, ))+P((X>Y)=(—1’0))=1DD EXY] =
0, PX = 1) = P(OXY) = (10) = (1= )2, P(X = —1) = P(X = (-1,0) = (1 ~0)/2 00
EX]=1-P(X=1)+(-1)-P(X=-1)+0-P(X =0)= 00000 E[XY] = E[X]E[Y] 000000
O Cov(X,Y) =p(X,Y)=0.
0000(X,Y)O 20000000000 X, YOOOOOOOOOOOOOOOoooooooooo
(cf. O 2500 412, 0 4.2)0
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0 4.2 X, Xo,...,X,00000k =
— 1@ 1
X=-Y X,(@0000),U%=

1,...,n0000 E[X)] =p, V(X)) =0>000000000
Z(X,f X)2(0000)00000E[X] =pu, EUY =020

n =1 —1;5
aooo
12 — 1
00 E[X]= 72 E[Xy] = p. Yk:Xk—,uDDDDDXl—X: Yl——ZYk O0EY? =
n n n =
V(Xy) = o2, E[Y} ] Cov(Xy, X;)=0(k£0)0000O
<2 _ (n—1)? - _n-1 o2
E[(XI_X)]:T Z =
k=2
2 n—1, 2 Ln—1, 2
O0000 k0000 E[(Xkr—X)?] = o 000000E[U? = > ——o=0". ([l
n n—1;= n

00 4.3 p000000 X =(Xy,...,X,) 000000000 E[X]=(E[X,...,E[X,))0 X000
00000000000Cov(X;,X;)000 (5,7)00000 pxpO000000X 0000000000
V(X)DDooo

00 412 X =(Xy,...,X,)0p000000 N(/,®)0000000p = (..., 1) € R?, S = (0y))
0000D00000000000000EX]=p, V(X)=X0000

O00: E[Xm] = pm, 1 <m <p, Cov(Xn, Xp) =0mn, 1 <m,n<pO0000000000A>00000

h L —4% = 1 —1y2 <, 1 _1y?
_wwe 2N dy =1, _wyme 2 X dy =0, _Ooy W@ 2x dy =\ (4.11)

000000023 @()00000000X =(Xy,...,X,)000000

1

—3(@-m= " (@-p) —
(2r)P/2(det 2)1/2°€ : s = (21,...,Tp).

flze,...,zp) =

¥ 000000000000000000000000000000000 P=(p;)000000000
000000 D=(\;)00000PEP=DO00000000y=(y1,...,9p) = (x—p)POODOO

p p
_ _ _ 1
(@ — W)= (@ —p) =yP'S Py =yD 1y’:ZEy§, T = fim = Y PmkYk
j=1
00|22 =|detP|=1,detS =det D =[[?_; A\j;. 000D

EXpy — pm] = / /R V(@1 ... zp)dey - - - dxy
P 1 ;7
mek/ / Yk H (2x, )1/2 2% }dy1 - dyp

2
1 1 vE o0 1 1Y
pmk/ 76 2%k dyg, / o 1R 9 dy;.
S 0 | Y e

0000(4.11)000 E[Xp — ] =0, 00000 E[X,] = ptr. 000

Cov(Xpm, X)) = // (@ — i) (e — pin) f @1, sy - da,
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0000(4.11)000000

P 2
1 1Y Ak (k’ZZ)
S R /76 PN\ dyy - dy, =
/ /RP [H Rr (27X;)'/? ] 3 0 (k#1)

ogooo COV(Xm,Xn) = Zi:l pmkpn/c/\kk- ooogprPDO (7,,]) oo ZZ:I pik)\kj = pij)\jj7 PDP' O
(m,n) 000 S pmxdkpnr- 0000X =PDP' 0000000

P

COV(Xm>Xn) = mekpnkAkk = Omn- U
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